Rate the Following Aspects of the University:	Number Percentage of Responses						
	Rreponese	Poor	Fair	Good	Excellent	Mean	StDev
Question							
1a Univ-Quality of instruction by fac	196	1.02	13.27	74.49	11.22	2.96	0.53
1b Univ-Quality of instruction by TAs	196	4.08	33.16	54.08	8.67	2.67	0.69
1c Univ-Indiv attention from instructors	195	12.31	45.13	34.87	7.69	2.38	0.80
1d Univ-Qual curr in providing job skills	193	11.40	44.04	37.31	7.25	2.40	0.79
1e Univ-Availability of needed course	198	3.54	9.60	48.48	38.38	3.22	0.76
1f Univ-Meet demands of current position	194	5.67	23.71	54.64	15.98	2.81	0.77
1g Univ-Prepare for continue education	195	3.08	20.51	53.33	23.08	2.96	0.75

Rate the Following Aspects of Your Major:	Number of	Percentage of Responses					
	Responses	Poor	Fair	Good	Excellent	Mean	StDev
Question							
1a Major-Quality of instruction by fac	189	0.53	6.88	46.03	46.56	3.39	0.64
1b Major-Quality of instruction by TAs	181	1.66	23.20	57.46	17.68	2.91	0.69
1c Major-Indiv attention from instrctors	189	6.35	24.87	39.68	29.10	2.92	0.89
1d Major-Qual curr in providing job skill	189	10.05	28.04	43.92	17.99	2.70	0.88
1e Major-Availability of needed courses	190	2.63	11.05	39.47	46.84	3.31	0.77
1f Major-Meet demands of current position	187	5.88	20.32	48.13	25.67	2.94	0.83
1g Major-Prepare for continue education	187	2.14	11.76	45.45	40.64	3.25	0.74

Your Opinion of the Following Statement:	Number	Percentage of Responses					
	of Responses	Strongly Disagree	Disagree	Agree	Strongly Agree	Mean	StDev
Question							
2a Major-Dept. characterized by respect	197	1.52	10.66	63.45	24.37	3.11	0.63
2b Major-Dept. helped for emp/con. study	195	20.00	35.90	26.15	17.95	2.42	1.00

The FREQ Procedure

3. Would you enroll at UK if start again									
QA03	Frequency	Percent	Cumulative Percent						
Definitely Not	7	3.54	7	3.54					
Probably Not	22	11.11	29	14.65					
Probably Yes	97	48.99	126	63.64					
Definitely Yes	72	36.36	198	100.00					

Indicate Your Perception of the Academic Atmosphere for	Number		Percentage of Re	esponses			
Minorities:	of Responses	Very Discriminatory	Discriminatory	Supportive	Very Supportive	Mean	StDev
Question							
4a Academic Climate - Women	190	0.53	1.05	67.37	31.05	3.29	0.51
4b Academic Climate - Men	187		2.14	57.22	40.64	3.39	0.53
4c Academic Climate - African Americans	182		8.79	66.48	24.73	3.16	0.56
4d Academic Climate - Other Minorities	180	1.11	9.44	66.67	22.78	3.11	0.60
4e Academic Climate-International students	182	0.55	4.40	60.99	34.07	3.29	0.57
4f Academic Climate - Disabled students	182	1.65	8.24	69.23	20.88	3.09	0.59
4g Academic Climate-Gay/Lesbian students	179	1.68	9.50	69.27	19.55	3.07	0.60

Indicate Your Perception of the Social Atmosphere for Minorities:	Number of	Vouv	Percentage of Ro	esponses	Very		
Tamorio.	Responses	Very Discriminatory	Discriminatory	Supportive	Supportive	Mean	StDev
Question							
4a Social Climate - Women	187	1.07	5.88	60.43	32.62	3.25	0.61
4b Social Climate - Men	186		2.15	50.54	47.31	3.45	0.54
4c Social Climate - African Americans	182	2.20	18.13	58.79	20.88	2.98	0.69
4d Social Climate - Other Minorities	181	2.21	19.34	63.54	14.92	2.91	0.65
4e Social Climate-International students	182	1.65	17.03	60.44	20.88	3.01	0.67
4f Social Climate - Disabled students	182	2.20	22.53	62.64	12.64	2.86	0.65
4g Social Climate-Gay/Lesbian students	180	5.56	25.00	53.33	16.11	2.80	0.77

The FREQ Procedure

5. What is your employment satatus									
QC05	Cumulative Frequency	Cumulative Percent							
Employed full-time (35 or more hrs/wk)	113	61.08	113	61.08					
Employed part-time (less than 35 hrs/wk)	31	16.76	144	77.84					
Not employed but seeking employment	7	3.78	151	81.62					
Not employed & not seeking employment	34	18.38	185	100.00					

Frequency Missing = 13

6. Relationship of your job to major								
QC06 Frequency Percent Cumulative Percent Percent Prequency Prequency Prequency Prequency Prequency Preceding Prequency Preceding Prequency Preceding Prequency Preceding								
My current position is directly related to major.	51	34.23	51	34.23				
My current position is somewhat related to major.	53	35.57	104	69.80				
My current position is not related to my major.	45	30.20	149	100.00				

Frequency Missing = 49

7. How long to find position related to major								
QC07	Frequency	Percent	Cumulative Frequency	Cumulative Percent				
Held job while attending UK	20	14.18	20	14.18				
Secured job prior to graduation	26	18.44	46	32.62				
Less than 30 days	7	4.96	53	37.59				
One to three months	27	19.15	80	56.74				
Four to six months	11	7.80	91	64.54				
Seven months to one year	7	4.96	98	69.50				
More than a year	8	5.67	106	75.18				
Have not found a position related to my major	35	24.82	141	100.00				

Frequency Missing = 57

The FREQ Procedure

8. Reason for not working in major								
QC08	Frequency	Percent	Cumulative Frequency	Cumulative Percent				
I found a more desirable position in another field	20	29.41	20	29.41				
I was unable to find a position related to my major	13	19.12	33	48.53				
I have not seriously looked for positions related to my major	21	30.88	54	79.41				
Other reasons	14	20.59	68	100.00				

Frequency Missing = 130

The FREQ Procedure

9. Current job	title			
jobname	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1ST LIEUTENANT, U.S. ARMY, SCOUT PLATOON	1	0.71	1	0.71
2ND YEAR MEDICAL STUDENT	1	0.71	2	1.42
ACCOUNT EXECUTIVE	1	0.71	3	2.13
ADMINISTRATIVE ASSISTANT	1	0.71	4	2.84
AMERICORPS VISTA	1	0.71	5	3.55
ARCHEOLOGICAL TECHNICIAN	1	0.71	6	4.26
ASSISTANT HEAD TELLER	1	0.71	7	4.96
ASSISTANT PORTFOLIO ANALYST	1	0.71	8	5.67
ASST. MANAGER	1	0.71	9	6.38
BANKING CENTER MANAGER, LENDING	1	0.71	10	7.09
BARTENDER	1	0.71	11	7.80
BEHAVIOR THERAPIST	1	0.71	12	8.51
BUSINESS ANALYST/PROJECT COORDINATOR	1	0.71	13	9.22
CAMPUS MINISTER	1	0.71	14	9.93
CAREER ADVISOR (GRAD ASSISTANT)	1	0.71	15	10.64
CAREER/STUDENT ASSESSMENT ADVISOR	1	0.71	16	11.35
CERT. NURSE'S AID	1	0.71	17	12.06
CHEMISTRY TEACHER	1	0.71	18	12.77
CHILD THERAPIST	1	0.71	19	13.48
CLIENT SERVICES MANAGER	1	0.71	20	14.18
COMMUNICATIONS SPECIALIST	2	1.42	22	15.60
COMPUTER PROGRAMMER	2	1.42	24	17.02
CORPORATE RECRUITER	1	0.71	25	17.73
CREW LEADER (GPS)	1	0.71	26	18.44
Career/Technology Coordinator	1	0.71	27	19.15
DESIGNER SALES SPECIALIST	1	0.71	28	19.86
DISTRICT MANAGER-DEVELOPMENT @ AMERICAN	1	0.71	29	20.57
DOMESTIC VIOLENCE PROGRAM COORDINATOR	1	0.71	30	21.28
Dental Assistant	1	0.71	31	21.99
EMPLOYMENT AND ESL COORDINATOR	1	0.71	32	22.70
ENGLISH INSTRUCTOR COMM. COLLEGE	1	0.71	33	23.40

The FREQ Procedure

9. Current job tit	le			
jobname	Frequency	Percent	Cumulative Frequency	Cumulative Percent
ENGLISH TEACHER	1	0.71	34	24.11
ENVIRONMENTAL INSPECTOR	1	0.71	35	24.82
ENVIRONMENTAL SCIENTIST	1	0.71	36	25.53
FIELD SALES OR OUTSIDE SALES	1	0.71	37	26.24
FIELD SERVICES DIRECTOR	1	0.71	38	26.95
FINANCIAL ANALYST	1	0.71	39	27.66
FINANCIAL CONSULTANT	1	0.71	40	28.37
FINE DINING SERVER	1	0.71	41	29.08
FIRE FIGHTER/PARA MEDIC	1	0.71	42	29.79
FIREFIGHTER/EMT	1	0.71	43	30.50
FLIGHT ATTENDANT	1	0.71	44	31.21
GENERAL MANAGER	1	0.71	45	31.91
GEOGRAPHIC INFORMATION SYSTEMS/GLOBAL POS	1	0.71	46	32.62
GEOLOGIST	2	1.42	48	34.04
GRADUATE STUDENT	1	0.71	49	34.75
GRADUATE STUDENT, RESEARCH ASSOCIATE	1	0.71	50	35.46
GRADUATE STUDENT/RESEARCH ASSISTANT	1	0.71	51	36.17
HANDYMAN	1	0.71	52	36.88
HEALTH EDUCATOR FOR WEIGHT LOSS	1	0.71	53	37.59
HIGH SCHOOL TEACHER	1	0.71	54	38.30
INFORMATION MANAGEMENT COODINATOR	1	0.71	55	39.01
INFORMATION SYSTEMS SPECIALIST	1	0.71	56	39.72
INTAKE SPECIALIST	1	0.71	57	40.43
INTELLIGENCE OFFICER	1	0.71	58	41.13
INTERIOR DESIGNER/SPACE PLANNER	1	0.71	59	41.84
LAB MANAGER	1	0.71	60	42.55
LAB MANAGER FOR GEOTECH FIRM	1	0.71	61	43.26
LAB TECHNICIAN	1	0.71	62	43.97
LAW CLERK	1	0.71	63	44.68
LAW CLERK-TAKING BAR IN JULY 2001	1	0.71	64	45.39
LAW CLERK/LAW STUDENT	1	0.71	65	46.10

The FREQ Procedure

9. Current job title					
jobname	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
LAWYER	1	0.71	66	46.81	
LEGAL CLERK	1	0.71	67	47.52	
LEGAL INTERN	1	0.71	68	48.23	
MBA STUDENT	1	0.71	69	48.94	
MED STUDENT	1	0.71	70	49.65	
MENTAL HEALTH ASSOCIATE FULLTIME GRAD STU	1	0.71	71	50.35	
MENTAL HEALTH SPECIALIST	1	0.71	72	51.06	
MORTGAGE BROKER	1	0.71	73	51.77	
NURSING CARE TECH	1	0.71	74	52.48	
OFFICE MANAGER	1	0.71	75	53.19	
PAGINATOR/COLUMNIST AT NEWSPAPER	1	0.71	76	53.90	
PARAMEDIC/FIREFIGHTER	1	0.71	77	54.61	
PART-TIME MANAGEMENT/REMODELING CONSTRUCT	1	0.71	78	55.32	
PERMANENT SUBSTITUTE-SPECIAL EDUCATION	1	0.71	79	56.03	
PERSONAL ASSISTANT/LAW STUDENT	1	0.71	80	56.74	
PERSONAL CARE ATTENDANT, & SOCCER COACH	1	0.71	81	57.45	
PHARMACY INTERN/PHARMACY STUDENT	1	0.71	82	58.16	
PHYSICAL THERAPIST	1	0.71	83	58.87	
POLICE OFFICER	1	0.71	84	59.57	
PRODUCTION ADMINISTRATION SPECIALIST	1	0.71	85	60.28	
PROGRAM DEVELOPMENT REP.	1	0.71	86	60.99	
PROJECT MANAGER	1	0.71	87	61.70	
QUALITY CONTROL SENIOR SUPERVISOR	1	0.71	88	62.41	
REGIONAL CONSULTANT	1	0.71	89	63.12	
RESEARCH ASSISTANT	3	2.13	92	65.25	
RESEARCHER-INDUSTRY	1	0.71	93	65.96	
RESTAURANT SERVICE	1	0.71	94	66.67	
SALES	2	1.42	96	68.09	
SALES MANAGER	1	0.71	97	68.79	
SALES REP	1	0.71	98	69.50	
SALES REPRESENTATIVE	1	0.71	99	70.21	

The FREQ Procedure

9. Current job title					
jobname	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
SERVICE COORDINATOR & COURT DESIGNATED WO	1	0.71	100	70.92	
SOCIAL SERVICES-RESIDENTIAL FACILITY COUN	1	0.71	101	71.63	
SOCIAL WORKER	2	1.42	103	73.05	
SPANISH TEACHER	1	0.71	104	73.76	
STAFF SCIENTIST	1	0.71	105	74.47	
STATISTICIAN	1	0.71	106	75.18	
STAY-HOME MOTHER	1	0.71	107	75.89	
STUDENT AT UK COLLEGE OF DENTISTRY	1	0.71	108	76.60	
STUDENT DENTIST-SECOND YEAR	1	0.71	109	77.30	
SUBSTITUTE TEACHER	3	2.13	112	79.43	
SYSTEMS ANALYST	1	0.71	113	80.14	
Sales Coordinator	1	0.71	114	80.85	
Sales Manager	1	0.71	115	81.56	
T.A.	2	1.42	117	82.98	
TA AT UK	1	0.71	118	83.69	
TEACHER	8	5.67	126	89.36	
TEACHER-HIGH SCHOOL	1	0.71	127	90.07	
TEACHER-HS	1	0.71	128	90.78	
TEACHING ASSISTANT	2	1.42	130	92.20	
TEACHING ASSISTANT/GRADUATE STUDENT	1	0.71	131	92.91	
TEACHING FELLOW	1	0.71	132	93.62	
TECH SUPPORT	1	0.71	133	94.33	
TRAVEL CONSULTANT	1	0.71	134	95.04	
Teaching Assistant	1	0.71	135	95.74	
USAF OFFICER (PHYSICIST)	1	0.71	136	96.45	
USAF Officer (Pilot)	1	0.71	137	97.16	
VICE PRESIDENT OF A CONSTRUCTION COMPANY	1	0.71	138	97.87	
WAITER/STUDENT	1	0.71	139	98.58	
WORK-STUDY LAB ASSISTANT AT SOUTHERN COLL	1	0.71	140	99.29	
YOUTH CARE WORKER	1	0.71	141	100.00	

Frequency Missing = 57

The FREQ Procedure

10. Annual income for current full-time job					
QC10	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
\$0-15,000	12	8.76	12	8.76	
\$15,001-20,000	13	9.49	25	18.25	
\$20,001-25,000	24	17.52	49	35.77	
\$25,001-30,000	24	17.52	73	53.28	
\$30,001-40,000	34	24.82	107	78.10	
\$40,001-60,000	16	11.68	123	89.78	
Over \$60,000	2	1.46	125	91.24	
Not employed full-time	12	8.76	137	100.00	

Frequency Missing = 61

11. Environment of employer					
QC11	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
Business	42	28.77	42	28.77	
Industry or manufacturing	6	4.11	48	32.88	
School or university	42	28.77	90	61.64	
Government or non-profit organization	30	20.55	120	82.19	
Health care system	10	6.85	130	89.04	
Self-employed	2	1.37	132	90.41	
Other	14	9.59	146	100.00	

Frequency Missing = 52

The FREQ Procedure

12. University Name						
QD12N	Frequency	Percent	Cumulative Frequency	Cumulative Percent		
AMERICAN UNIVERSITY	1	1.01	1	1.01		
BALL STATE UNIVERSITY	1	1.01	2	2.02		
BELLARMINE COLLEGE	1	1.01	3	3.03		
BISCAYNE COLLEGE	1	1.01	4	4.04		
BRANDEIS UNIVERSITY	1	1.01	5	5.05		
CAL-LOS ANGELES,U OF	2	2.02	7	7.07		
CAPITAL UNIVERSITY	1	1.01	8	8.08		
CINCINNATI MAIN CAM,U OF	2	2.02	10	10.10		
CUMBERLAND COLLEGE	1	1.01	11	11.11		
DAYTON,UNIVERSITY OF	1	1.01	12	12.12		
DEPAUL UNIVERSITY	1	1.01	13	13.13		
EASTERN KY UNIVERSITY	4	4.04	17	17.17		
FLORIDA STATE UNIVERSITY	2	2.02	19	19.19		
FLORIDA, UNIVERSITY OF	1	1.01	20	20.20		
GEORGIA, UNIVERSITY OF	1	1.01	21	21.21		
HARVARD UNIVERSITY	3	3.03	24	24.24		
INDIANA U BLOOMINGTON	1	1.01	25	25.25		
KANSAS ST U AGR & APP SCI	1	1.01	26	26.26		
KENTUCKY, UNIVERSITY OF	35	35.35	61	61.62		
LA STATE U AND A&M C	2	2.02	63	63.64		
LOUISVILLE, UNIVERSITY OF	11	11.11	74	74.75		
MARSHALL UNIVERSITY	1	1.01	75	75.76		
MASS INST OF TECHNOLOGY	1	1.01	76	76.77		
MINNESOTA DULUTH,U OF	1	1.01	77	77.78		
MONTEREY INTRNATL STDIES	1	1.01	78	78.79		
MOORHEAD STATE UNIVERSITY	1	1.01	79	79.80		
MOREHEAD STATE UNIVERSITY	1	1.01	80	80.81		
NC AT CHAPEL HILL,U OF	1	1.01	81	81.82		
NEW ORLEANS, UNIVERSITY OF	1	1.01	82	82.83		
NORTHERN KY UNIVERSITY	1	1.01	83	83.84		
OHIO U MAIN CAMPUS	1	1.01	84	84.85		

The FREQ Procedure

12. University Name						
QD12N	Frequency	Percent	Cumulative Frequency	Cumulative Percent		
PIKEVILLE COLLEGE	2	2.02	86	86.87		
SAINT PETERSBG JR COLLEGE	1	1.01	87	87.88		
SPALDING COLLEGE	1	1.01	88	88.89		
STHN ILLINOIS U CARBONDL	1	1.01	89	89.90		
SYRACUSE U MAIN CAMPUS	1	1.01	90	90.91		
TAMPA,UNIVERSITY OF	1	1.01	91	91.92		
TENN AT CHATTANOOGA,U OF	1	1.01	92	92.93		
UNIVERSITY OF ALABAMA	1	1.01	93	93.94		
UTAH,UNIVERSITY OF	1	1.01	94	94.95		
VIRGINIA MAIN CAMPUS,U OF	1	1.01	95	95.96		
WESTERN KY UNIVERSITY	3	3.03	98	98.99		
XAVIER UNIVERSITY	1	1.01	99	100.00		

Frequency Missing = 13

13-1. Research or graduate assistantships					
QD131	QD131 Frequency Percent Cumulative Frequency Percent				
No	86	76.79	86	76.79	
Yes	26	23.21	112	100.00	

13-2. Teaching assistantship					
QD132	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
No	93	83.04	93	83.04	
Yes	19	16.96	112	100.00	

13-3. Fellowships					
QD133	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
No	93	83.04	93	83.04	
Yes	19	16.96	112	100.00	

The FREQ Procedure

13-4. Loans					
QD134	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
No	51	45.54	51	45.54	
Yes	61	54.46	112	100.00	

13-5. Grants					
QD135 Frequency Percent Cumulative Frequency Percent					
No	98	87.50	98	87.50	
Yes	14	12.50	112	100.00	

13-6. Personal earnings or savings					
QD136	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
No	39	34.82	39	34.82	
Yes	73	65.18	112	100.00	

13-7. Other				
QD137 Frequency Percent Cumulative Frequency Percent				
No	89	79.46	89	79.46
Yes	23	20.54	112	100.00

The FREQ Procedure

14. Currently enrolled at a College/Institute					
QD14	Frequency Percent Cumulative Percent Percent				
Yes	95	100.00	95	100.00	

15. Current status at new institution							
QD15 Frequency Percent Cumulative Frequency Percent							
Full-time student	78	82.11	78	82.11			
Part-time student	17	17.89	95	100.00			

The FREQ Procedure

16. Major/program you are currently pursuing					
QD16	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
Agriculture Sciences, General - 020101	1	1.10	1	1.10	
Landscape Architecture - 040601	1	1.10	2	2.20	
Area Studies - 050100	2	2.20	4	4.40	
Business Administration/Management - 520101	4	4.40	8	8.79	
Education, General - 130101	3	3.30	11	12.09	
Engineering Mechanics - 141101	1	1.10	12	13.19	
Physical Therapy - 512308& 51230801	2	2.20	14	15.38	
Dentistry (General) - 51289901	5	5.49	19	20.88	
Medicine (General Residency) - 51299901	12	13.19	31	34.07	
Pharmacy - 512001	1	1.10	32	35.16	
Health Professions/Related Sciences, Other - 519999	1	1.10	33	36.26	
Law - 220101	18	19.78	51	56.04	
Library and Information Science - 250101	1	1.10	52	57.14	
Behavioral Science - 269999	12	13.19	64	70.33	
Religion - 380199	1	1.10	65	71.43	
Physical Sciences, General - 399999	2	2.20	67	73.63	
Industrial & Organizational Psychology - 420901	1	1.10	68	74.73	
Public Administration - 440401	2	2.20	70	76.92	
Social Work - 440701	1	1.10	71	78.02	
Diplomacy and International Commerce - 459999	19	20.88	90	98.90	
Clinical Nutrition - 511311	1	1.10	91	100.00	

Frequency Missing = 4

The FREQ Procedure

17. Highest degree obtained or pursuing					
QD17	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
Masters degree or Educational Specialist	45	47.87	45	47.87	
Law Degree	19	20.21	64	68.09	
Medicine Degree	14	14.89	78	82.98	
Dentistry Degree	4	4.26	82	87.23	
Pharmacy Degree	2	2.13	84	89.36	
Ph.D or Ed.D	7	7.45	91	96.81	
Other graduate degree	3	3.19	94	100.00	

Frequency Missing = 1

18a. Contributed money or time to a charitable					
QE181	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
Not at all	10	10.53	10	10.53	
Once	22	23.16	32	33.68	
2-3 times	40	42.11	72	75.79	
4+ times	23	24.21	95	100.00	

18b. Gone to meetings of civic org.					
QE182	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
Not at all	47	49.47	47	49.47	
Once	19	20.00	66	69.47	
2-3 times	17	17.89	83	87.37	
4+ times	12	12.63	95	100.00	

18c. Gone to a play					
QE183	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
Not at all	26	27.37	26	27.37	
Once	31	32.63	57	60.00	
2-3 times	27	28.42	84	88.42	
4+ times	11	11.58	95	100.00	

The FREQ Procedure

18d. Read a book for pleasure						
QE184	Frequency	Percent	Cumulative Frequency	Cumulative Percent		
Not at all	4	4.21	4	4.21		
Once	6	6.32	10	10.53		
2-3 times	23	24.21	33	34.74		
4+ times	62	65.26	95	100.00		

18e. Used a library or its services						
QE185	Frequency	Percent	Cumulative Frequency	Cumulative Percent		
Not at all	2	2.11	2	2.11		
Once	3	3.16	5	5.26		
2-3 times	7	7.37	12	12.63		
4+ times	83	87.37	95	100.00		

18f. Gone to a museum or art gallery					
QE186	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
Not at all	14	14.89	14	14.89	
Once	21	22.34	35	37.23	
2-3 times	25	26.60	60	63.83	
4+ times	34	36.17	94	100.00	

Frequency Missing = 1

18g. Gone to a classical music concert					
QE187	Frequency	Percent	Cumulative Frequency	Cumulative Percent	
Not at all	52	54.74	52	54.74	
Once	22	23.16	74	77.89	
2-3 times	15	15.79	89	93.68	
4+ times	6	6.32	95	100.00	

The FREQ Procedure

18h. Gone to a popular music							
QE188	Frequency	Percent	Cumulative Frequency	Cumulative Percent			
Not at all	31	32.63	31	32.63			
Once	25	26.32	56	58.95			
2-3 times	29	30.53	85	89.47			
4+ times	10	10.53	95	100.00			

19. Register for vote in election						
QE191	Frequency	Percent	Cumulative Frequency	Cumulative Percent		
Yes, registered and voted	78	82.11	78	82.11		
No, registered but did not vote	12	12.63	90	94.74		
No, not registered but eligible	4	4.21	94	98.95		
No, not eligible for registration	1	1.05	95	100.00		

The FREQ Procedure

UK College						
COLL	Frequency	Percent	Cumulative Frequency	Cumulative Percent		
AS	198	100.00	198	100.00		

UK Major				
MAJOR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
Linguistics - 160102	2	1.01	2	1.01
German - 160501	1	0.51	3	1.52
French - 160901	2	1.01	5	2.53
Spanish - 160905	3	1.52	8	4.04
Classics - 161201	1	0.51	9	4.55
English - 230101	28	14.14	37	18.69
Biology - 260101	39	19.70	76	38.38
Mathematics - 270101	8	4.04	84	42.42
Philosophy - 380101	2	1.01	86	43.43
Chemistry - 400501	5	2.53	91	45.96
Geology - 400601	6	3.03	97	48.99
Physics - 400801	5	2.53	102	51.52
Psychology - 420101	43	21.72	145	73.23
Anthropology - 450201	5	2.53	150	75.76
Geography - 450701	4	2.02	154	77.78
Political Science - 451001	16	8.08	170	85.86
Topical (Interdisciplinary) Studies - 30999901	4	2.02	174	87.88
Foreign Languages and International Economics - 30999903	5	2.53	179	90.40
History - 45080101	11	5.56	190	95.96
Sociology - 45110101	8	4.04	198	100.00